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QUESTION 1

Examine the incomplete code:

CREATE TYPE numbst IS TABLE OF NUMBER;

CREATE PROCEDIRE list_sal (dept_id NITMRER)
IS
sgl_ stmt  VARCHAR2 (200);
ret INTEGER;
empids numlist;
sal numlkst;
BEGIN
cund := DBMS_SQL.OPEN_CUREOR;
sgl_stmt = ‘SELECT employee_1d, salary FROM employees WHERE department_1d =:al’;
DBMS_SQL .PARSE (curid, sql_stmt, DBMS_SQL.NATIVE);
DBMS SQL.BIND VARIABLE (curid, ‘al’, “dept id");
ret: = DBMS SQL EXECUTE (curid):
FETCH src_cur BULK COLLECT INTO empids, sal;
IF empids. COUNT=> 0 THEN
FOR 1IN 1 .. emp1ids COUNT LOOP
DBMS_OUTPUT.PUT _LINE (empids (1) | | © " || sal (i));
END LOOP;
ENDIF,
CLOSE src_cur;
END;

Which three lines of code must be added for it to successfully compile?
A. curid := DBMS_SQL.TO_CURSOR_NUMBER (src_cur);

B. src_cur := DBMS_SQL.TO_REFCURSOR (curid);

C. src_cur= NUMBER;

D. curid NUMBER,;

E. curid SYS_FEFCURSOR,;

F. src_cur SYS_REFCURSOR;

Correct Answer: BDF
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QUESTION 2

Your company decided to update its employees\\' contact information as a one-time event.

With thousands of employees\\' records to be updated, the project manager hoped to achieve substantial
performance gains using the DBMS_PARALLEL_EXECUTE package and identified these four actions to
be executed.

1) dbms_parallel_execute.create_task

2) GRANT system privilege CREATE JOB to the user executing this task

3) dbms_parallel_execute.run_task 4) doms_parallel_execute.create_chunks_by rowid Select the correct order of

actions to implement the parallel execution of PL/SQL blocks.
A.2,1,3and 4
B.1,2,4and3
C.2,1,4and3
D.1,2,3and 4
E.2,4,1and3

Correct Answer: E

QUESTION 3

Which two types of metadata can be retrieved by using the various procedures in the DBMS_METADATA PL/SQL

package? (Choose two.)

A. report of invalidated objects in a schema

B. report of statistics of an object in the database

C. DDL for all object grants on a table in the database

D. data definition language (DDL) for all objects in a schema

Correct Answer: CD

QUESTION 4

Which two statements are true about the extproc process? (Choose two.)
A. It loads the dynamic library.

B. It is started by the server process.

C. It converts the C output back to PL/SQL.
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D. A single extproc process serves all user sessions.

Correct Answer: AC

QUESTION 5

You are designing and developing a complex database application built using many dynamic SQL statements. Which
option could expose your code to SQL injection attacks?

A. Using bind variables instead of directly concatenating parameters into dynamic SQL statements
B. Using automated tools to generate code

C. Not validating parameters which are concatenated into dynamic SQL statements

D. Validating parameters before concatenating them into dynamic SQL statements

E. Having excess database privileges

Correct Answer: D
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